ALL DIMENSIONS IN MM

Parts List Parts List
ltem Qty Part Number Description Iltem Qty Part Number Description
1 3 NOR-CV45-6MM E-Air Valve 24V NC TEF 6mm S 12 NOR-CV45-BSH M6 X 12 Button Socket Head
2 2 NOR-CV45-NUT M8 Nyloc Nut 6 12 NOR-CV45-WSHR M6 Lock Washer
3 2 NOR-CV45-BOLT M8X25 SS Capscrew 7 1 NOR-CV45-WL 4 Wiring Loom t/s CV45 4 Station
4 1 NOR-CV3545-BRK3 CV35 & 45 Bracket t/s 3 Valves

24V Solenoid Valve Kit For Electric /Air Systems

NOR-CV45-K3

< THS

4/07/2023




	Sheets and Views
	Sheet1


